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Candidates must write the Code on the
title page of the answer-book.
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e Please check that this question paper contains 12 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 29 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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ECONOMICS
eiRa a7 : 3 a2 37ferhar 37 : 100
Time allowed : 3 hours Maximum Marks : 100
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Q=T 3397 :
G) gl @vel & @4t yeT AT & |
(i)  T9% I97 & [HERT 3% 358 qrgd R 1 §

(i)  ¥97 &1 1~ 3 97 15 — 19 3fa TGRIcHE F97 &, 578 I9% #1 1 3% & |
59T Yo &1 I Uk JTaFT H 57 37957 8 |

(iv) 397 &I 4- 8 3K 20 - 22 TFHIHF 97 8, 5780 JA9% & 3 3% & |
Y% ] I GHIT: 60 VsG] & 37feeh 757 &1 FeT |

(v)  To7 G&IT9 - 10 37K 23 - 25 Y} TFHIHS J97 8, 15770 J39% & 4 37% & |
ek &1 I GIHTIT: 70 Jeq] & 37fer 781 817 =i |

(vi) 97 &7 11-14 3R 26 - 29 T IHIcHS 97 &, 578 I9% & 6 3%
g | I9% &7 3T GrHT=Id: 100 Isq] @ 37fer 781 5147 =fzy |

(vii) I GIETTT TIT TeqIcHE §17 FIET TIT JIEYT FI 3 T8 Joq GIHT & dld
&7 13w o7 =nfFw |

General Instructions :
(i) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each question.

(iti) Questions No. 1 - 3 and 15 - 19 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv)  Questions No. 4 -8 and 20 - 22 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Questions No. 9 — 10 and 23 - 25 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi) Questions No. 11 - 14 and 26 - 29 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.

58/1 2
Downloaded From: http://www.cbseportal.com



Downloaded From: http://www.cbseportal.com

wus A
SECTION A

1.  IHEHE g hl gl S | 1

Define indifference curve.

2. g aeg X H hmd fid 4, awg Y 1 0 sedt 8, @ aFl aeqy W J §
(@&l ferehed FiQ) 1
(1)  wfceemd

(F) T
(@) st &l
(z)  wfeamdt

If due to fall in the price of good X, demand for good Y rises, the two
goods are : (Choose the correct alternative)

(a)  Substitutes
(b) Complements
(c) Not related
(d) Competitive

3. dRk Hwa vheaw R iR ¢ @ &, @ SHEME a% & B
GHACETRECIEIY) 1
() =6 3R TTEr 9
(@) = & 3R Tdl AadaA
(@) 6 AR TTar et @
() Wl AR Al I

If Marginal Rate of Substitution is increasing throughout, the
Indifference Curve will be : (Choose the correct alternative)

(a) Downward sloping convex
(b)  Downward sloping concave
(c) Downward sloping straight line

(d) Upward sloping convex
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4. RO §dd gC HEfaRgd difdss w smeid Icated ST S % 3R W
feouft ‘ﬁ'ﬁﬂ : 3
T X (3519 TG Y (3HE)
0 30
1 27
2 21
3 12
4 0

Giving reason comment on the shape of Production Possibilities Curve
based on the following schedule :

Good X (units) Good Y (units)
30
27
21
12
0

B~ W (N += O

5. YR & g Tt h faesft Fawent = “9ra #§ s30T (Make in India) St
Afid T YRA o IcUled HHIEAT dsh T T JHIT US4 <hl GHET & ?

HHEART |

atera
ST G T & FACAl o1 AFATEAT hl IcaTe &1 T FT THE TS ohl
TS & ? GRS | 3

What is likely to be the impact of “Make in India” appeal to the foreign
investors by the Prime Minister of India, on the production possibilities
frontier of India ? Explain.

OR

What is likely to be the impact of efforts towards reducing
unemployment on the production potential of the economy ? Explain.
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6. Ufd & hHa A= & AW F WY I gA-F8 (plus sign) H I F TH
T g <h! G171 1 HITd g o Y o T 2 FU-[& (minus sign)
Hawd quEATRT | 3

Explain the significance of ‘minus sign’ attached to the measure of price
elasticity of demand in case of a normal good, as compared to the ‘plus
sign’ attached to the measure of price elasticity of supply.

7. U QU fqEnft STR | shar @t wuHT o IcATGH I UUEY HEA & | 39 T
<hl Hatd GHETRT | 3

In a perfectly competitive market the buyers treat products of all the
firms as homogeneous. Explain the significance of this feature.

8. ‘=maw dma (Freaw dhiwa fufon) & s g & TR W 1 999 9Sd @ 2
TErfe &1 93T hifsu | 3

What are the effects of ‘price-floor’ (minimum price ceiling) on the
market of a good ? Use diagram.

Fig:  FHECTRET I97 FIT FIBFIT ATt & 1077 Fv7 G 8 % T WE |

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 8.

T 9E] & SR R ad hHma’ (e hma fgion o gwe a9smsg | 3

Explain the effects of ‘price-floor’ (minimum price ceiling ) on the market
of a good.

9. U UK Tsh o W FrEehl Fima T 10 Ifd 31E B, T 1,000 =5 LT § |
& 39eh! hmd 20 Tfawra IR STt 8, @ SUMRAT 39 a&g W T 800 S hdl
2 | faera fafer gra | <kl ShiHd = o1 Iiehad shifae | 4

A consumer spends ¥ 1,000 on a good priced at ¥ 10 per unit. When its

price falls by 20 percent, the consumer spends ¥ 800 on the good.
Calculate the price elasticity of demand by the Percentage method.
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10. IO UH A5 hI ATHIUS IHIZA B Icd1ed fopm Srar 7 (21) fhEa
A AN A (F) Gd Iiad] dTd ol T a8’ &l 8 2

AT
fted wenfed (3mM) Y it €ife | yofera hifse foh siaa aonfed st
$Hd THEHAH Bd 2 | 4

What is the behaviour of (a) Average Fixed Cost and (b) Average
Variable Cost as more and more units of a good are produced ?

OR

Define Average Revenue. Show that Average Revenue and Price are
same.

11. T IUYRHT hadl ¢ g3l X 3T Y &1 U9 Hal 8, gHI hl SR hHiHd
T 2 Ufd $oh1S B | Afg SUMRRT g1 aEqeN o1 UET wANT gHar @ fred Emia
YfeReeTad gt 2 & SUeR 7, A 91 IUMH T | 8 ? 1 A9 I 441 2 Vet
feafa 8§ ues faaehl IudIhT = KU 2 9HETST |

AYAT
Teh IUNIRHT shadd &l aegali X 3R Y &1 IUAN ar 7, aeht $imd o
T 5 3N T 47 | A IUAHE A1 gt 1 & FAM AT 7 ToreH X H
Hrd YA 4 & s AR Y H Hud UM 5 & SR 7, ol F&40
UM Tqe | 7 ? N A¥a i Tei ? U feufa # ues faasht Sudh @
HUT ? IFNTAT fergeisor w1 Iwm I | 6

A consumer consumes only two goods X and Y, both priced at ¥ 2 per

unit. If the consumer chooses a combination of the two goods with
Marginal Rate of Substitution equal to 2, is the consumer in
equilibrium ? Why or why not ? What will a rational consumer do in this
situation ? Explain.

OR
A consumer consumes only two goods X and Y whose prices are ¥ 5 and
T 4 respectively. If the consumer chooses a combination of the two goods
with marginal utility of X equal to 4 and that of Y equal to 5, is the
consumer in equilibrium ? Why or why not ? What will a rational
consumer do in this situation ? Use utility analysis.
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12. WA 391G o &9 H qREd AUl o oW & ol =wor = g 2 e =1
T I Fd18Y, | TG Rl ST HifoTT | 6

What are the different phases in the Law of Variable Proportions in
terms of marginal product ? Give reason behind each phase. Use

diagram.

e HETfeTiad I97 Fac giggia ahemioral & forg Jo7 J&ar 12 & T W& |

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 12.

gitadt sumdl o M & fofte =won +1 ueh geaens IS 6 Jerdal 9
HHATRT | 6

Explain with the help of a numerical example different phases in the

Law of Variable Proportions.

13. 993ms T 9 Tged 1 od 90 T & @ T Icdieeh dqad | 91 T8l 80 | 6

Explain why will a producer not be in equilibrium if the conditions of

equilibrium are not met.

14. T I%q ol SR Tqe | & | 9% 1 gfd & “Sft” ot g | 39 qfieaq &
RO B IT THTE ohl @ FHST | 6

Market for a good is in equilibrium. The supply of good “decreases”.

Explain the chain of effects of this change.
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Qus d
SECTION B

15. Gufse A9 0 ‘9Hy 9 § = A B 2 1

What is ‘aggregate demand’ in macroeconomics ?

16. I Ewid 3T Yg[ = 1, 70 I qod I8 BT : (Fa! fasheq ) 1
(31) 0
@) 1
(@) 03M 1% =
(®) =

If MPC = 1, the value of multiplier is : (Choose the correct alternative)
(a) O

(b) 1

(c) Between 0 and 1

(d) Infinity

17. S 9 H s =1er 98 g § : (WE faemew i) 1
(31) U HF — TSTEa e
) A =T — A WAl
(") S =1el — SAS Wi
(3) UShINI HTeT — A YA

Primary deficit in a government budget is : (Choose the correct

(&

alternative)

(a) Revenue expenditure — Revenue receipts
(b)  Total expenditure — Total receipts

(c) Revenue deficit — Interest payments

(d)  Fiscal deficit — Interest payments
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18. TIY T JIY TH[AU Hgdldl g s I8 Hg & 399 gred femam Sam 8 -
Fal fashed gie) 1

(

(1) ST O IedTied aeqan W
(&) fosharett & aeqd s= W
(")  sharelt § aEqd @led W
(3) I HAMW Il °

Direct tax is called direct because it is collected directly from : (Choose

the correct alternative)

(a)  The producers on goods produced
(b)  The sellers on goods sold

(c) The buyers of goods

(d) The income earners

19. 3 91d Ydad &4 W, af¢ foreft <o o fogsht ggr i s dma firdt 7, af
TS I (TR ferhed gf) 1
(1) ¥ gfg 9 K dwre Bt 2

(@) # o1 ok wTe i @

(@) gfg g i 3 el S A GureETd Fiedt §

(3) T HIS YA T8I B hl U BIdl @

q

)
)

Other things remaining the same, when in a country the market price of
foreign currency falls, national income is likely : (Choose the correct

alternative)

(a) torise

(b)  tofall

(c) to rise or to fall

(d) to remain unaffected
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20. Jfe ITEqldaeh Hohd <IMT I T 400 & 3R Hifgewr Tt 3T IAE T 450
B, Al ShIAd FEhich (SMEIR = 100) T THEh HIT | 3

If the Real GDP is ¥ 400 and Nominal GDP is ¥ 450, calculate the Price
Index (base = 100).

21. for (fa) fafme o ok a=ielt (=) fafima g o s erfirar 2 2
T
fFrafra sreemht (vefea fodt) fafma o =1 o1 awzmsu | 3
What are fixed and flexible exchange rates ?

OR
Explain the meaning of Managed Floating Exchange Rate.

22. ‘fogu @ 39 YA FgeH Wi B hal gof fohaT SATdl 8 ? RO TSy | 3

Where is ‘borrowings from abroad’ recorded in the Balance of Payments
Accounts ? Give reasons.

23.  Hdid Soh 1 Rl I Tk HE TS |
HAAAT
e ok 1 “TRIhdl S HE THIET | 4
Explain the “Bankers’ Bank function” of the central bank.
OR

Explain the “Bank of Issue function” of the central bank.

24, 4 &% G A HAT &, TR Ht g9 HEd & T AMST S qgT o Hd
8 | THSST | IS Siehi RT 39 HGT ol ol TS 3T X F1 JHIE IS4 hi
HUTEAT 7 ? GHEST | 4
Currency is issued by the central bank, yet we say that commercial
banks create money. Explain. How is this money creation by commercial
banks likely to affect the national income ? Explain.
58/1 10
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25. T NIIIEAT gged | 7 | Fefeifga @ faw = o1 gfehem Sl 4

An economy is in equilibrium. Calculate the Investment Expenditure
from the following :

National Income = 800
Marginal Propensity to Save = 0-3

Autonomous Consumption = 100

26. RV FAd gY FHATSY foh USEA 3T 1 ATheH Hd &H HHTAREd % |1
a1 FagR R ST =R 6
() T s I Th BH g AN YTAH
(i) T ATtk ol Teh b gRI ST YTAH
(iii) T b I Teh Afh gHI TS YTAH

Giving reason explain how the following should be treated in estimation

of national income :

(1) Payment of interest by a firm to a bank

(ii))  Payment of interest by a bank to an individual
(iii) Payment of interest by an individual to a bank

27. ‘AT AT Qw1 ANA § ? FHRI G HH H b G hl YfHepT AT |
tera

‘sifq wiT (SAfemiT) | R AMIE 2 ? 3Ehl T HH W OUld el g
fHehT FHETET | 6

What is ‘deficient demand’ ? Explain the role of ‘Bank Rate’ in removing
it.

OR
What is ‘excess demand’ ? Explain the role of ‘Reverse Repo Rate’ in
removing it.

28. ¥ JEAFANE A Hd H THR ST AIfd hT Hd T T Tohdl § 2
qugnsa | 6

Explain how the government can use the budgetary policy in reducing
inequalities in incomes.
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29. T I 3R TSht 31 &1 ufiepem hifre 6
(T #3)
() TerEn 200
i) Toacem = fraat #r om 10
(i) TS FOT | &S 15
(iv) SIgd a1 o 700
(v) OR gRI e g 10
(vi) eferditd oW 20
(vi)) T & 30
(viii) TS 150
(ix) TSRt gRT TTwTioTeh QRe STRIgH 100
(x)  HCHI I 9 Hee <afi 3eare 250
(xi) I fova 1 fraet =re] geda 5
(xii) STHT 50

Calculate the ‘National Income’ and ‘Private Income’ :

(¥ crores)
(1) Rent 200
(i1))  Net factor income to abroad 10
(iii) National debt interest 15
(iv) Wages and salaries 700
(v)  Current transfers from government 10
(vi)  Undistributed profits 20
(vii) Corporation tax 30
(viii) Interest 150
(ix)  Social security contributions by employers 100
(x)  Net domestic product accruing to government 250
(xi)  Net current transfers to rest of the world 5
(xii) Dividends 50
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